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Programming Assignment  #2: Input and Output


Part A: Base 10 Integer → Base 2 Integer
[image: image1.png]Please enter an integer (betueen 1-32767)

The base 10 value of the input is: 1
The base 2 value of the input is: BOGBOBEBEBEODEL

Progran ended successfully





[image: image2.png]Please enter an integer (betueen 1-32767)
28

The hase 10 value of the input is: 128
The base 2 value of the input is: BOGEOEO10E0E0D

Progran ended successfully





[image: image3.png]The hase 10 value of the input ic: 32767
The base 2 value of the dnput is: 111111111111111

Progran ended successfully





Part B: Base 10 Decimal Number → Base 2 Number

[image: image4.png]Please enter a decimal number
.5

The base 18 value of the input is: .508008
The base 2 value of the input is: .188008

Progran ended successfully





[image: image5.png]Please enter a decimal number
125

The base 18 value of the input is: .125000
The base 2 value of the input is: .081008

Progran ended successfully





[image: image6.png]Please enter a decimal number
124

The base 18 value of the input is: .124000
The base 2 value of the input is: .08B111

Progran ended successfully
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